TRHROE12F4AHT REFRBELES PHERE
/NS RR H 5 B E
| ERAEIK | EWERR EERMEFRCOTBEEHEBELELO
BRES BHB®E] FEK | ABK | %1Ks ZHE S BHEBEEG] FEK | ABK | % 1K
3 L85 |HmETH 54,633] 38, 712] 93,345 3 L85 |HBRETH 54,633] 38 712] 93, 345
HAF eSS 5 14,188]  10,875] 25,063 BF  HB |BARER 14,188 10,875] 25 063
2 ¥ |BEx% 44,706] 36,407 81,113 7 H¥ |RI® 44,706] 36,407 81,113
it 113,527] _ 85,994] 199,521 it 113,527] 85 994] 199,521
EDBRER (A) 113,527] 85, 994] 199,521 AENEER (A) 113,527] 85 994] 199,521
EHIRESH (B) x 4 664 2663« 7,327 EHIRESH (B) 3, 696 2,663 6, 359
BE#%K (O * 118,191] 88,657/ 206, 848 BE#REK (C) 117,223] _ 88,657| 205, 880
Zots (D) * 8 o 8 Zote (D) 5 0 5
BEERHR (E) *_118,199] 88, 657[* 206, 856 BEERW (E) 117,228] _ 88.657| 205, 885
% (C) = (A) + (B), (E) =(C) + (D) (c) =)+ (B, (BE)=I(C)+ (D)
| EHEEIK
EHHE % BHBEE] BHHXK] MK | 2K | $2KEH
L EH [REROR 5.273]  3.384]  6,571] 15,228
25 oL [ieRER 3,734 3,100 4,891 11,725
# V2 E [#FOE 18,839  14,398]  27,416] 60, 653
AR HE |AARER 7175 5583 8.872] 21,630
E At [HHEREE 30,948 21,425] 38, 916] 91,289
it 65.969]  47.890] 86, 666] 200,525
AEMBRER (A) 65,960]  47,890] 86, 666] 200, 525
WNBRER (B) 2,088 1,366]  2,118] 55612
SEREK (C) 68,057|  49,256] 88, 784] 206,007
ZoH (D) 0 1 i 2
BEERE (E) 68.057] 49,257 88 785] 206,099
% (C) = (A) + (B), (E)=(C) + (D)




